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394 |EER 2ER mEET %fgg%%gﬁ) JETRE Z Dt PIFLKIR - RS R AR Ge H29.1.26 | H29.2.1 <3.7 <34 A
395 [fRER BEER mMEE™T %éjﬁ%g%%zm) JETRIE Z Dt ALy — BEREENRR Ge H29.1.26 | H29.2.1 <34 6.08 6.1
396 [fRER BER ™ %f%g%%—g?ﬁ) FEFE Z D1tk REYMIS AT E S BEREEMRRER Ge H29.1.26 | H29.2.1 <3.1 10.1 10
397 |EBmR EER | WEET |GamTar ERER | Zof BBEET |- BB R R Ge | H20.126 | H2o21 | <35 358 36
398 |EER - - %éjﬁ%@%ﬁé;ﬁ) JETRIE Z Dt BRE - RS R AR Ge H29.1.26 | H29.2.1 <4.2 <2.9 A
399 [BER — — %gﬁ%g%é’_;@) JETRE M Z Dtk R{TEE - BEREEMRRR Ge H29.1.26 | H29.2.1 <3.8 <34 <12
400 |EER - - %f%@fﬁié;i) JETE Z D1tk HERE - BEREEMRER Ge H29.1.26 | H29.2.1 <4.3 <3.6 <19
401 |BBR BER faE™ %gﬁ%g%t%g) JETE Z D1tk WEHS — BEREEMRRER Ge H29.1.26 | H29.2.1 <3.3 <35 <6.8




